HE 2= 2

lo
go

=

rlo

m

rlo

(7h y = —»?

() y= 252 +4

(Fh y=2(x-1)*
() y =3
(MHy=3(x+2)?2-1

@ (Wh-(=H-(=h-("hH-("hH
@ (=hH-(H-(=h-(=h-(7h




@ y=-5x2 ®
y=5x2-5

@O y=5x2

@ v

® y=5x*+4

—5x% +4



3.y o ABOl WS x =3 L wl, y =27 o]t} x o] gko] 2614
7 29 Z7V o), y 9] ke F7kepe Fotolet.

SR
=%



o
o
o

1
—/Fy:—g(x+1)2—494y

v
o

hE el
dHe

Fotofer.



o_a

Ty =-2x2 +4x+1 9] TGk

12et

o

5.

® 2 3 3

@D 1



D y=x2+x-x2
® y=x*(—x?+4x+5)

1
©y=7+x—1
X

@ y=0-x>+3

@ y=x*>+x+3-2x°



o

e

ny

et

3

i

~

)

!

—_—

N

H|

T
w

a7

S

|

“ o

+

~, N

|or
S

¢ &

w0

~ "

CHCE

7.

@ 10 ® 15 @ 20 ® 25

@D 5



J
5

of

E Adr. p
]1\’_}

)E

(Lp






10. t©he Tgjmo] Al s )

© y=x*+2x+3 \

@ y=x+2x-3

® y=x*-2x-3 L

@ y=x>-2x+3

1
@ y:§x2_x_3

[

oo ~—



SH
=

Zt B, C 2t



12. Al A (0,-6),(1,0),(2,2) S A= T2

1

A4 HEE?

@ (1, 1) @ (1, 2) ® (2, 1)
@ (2, 2) ® (3, 3)



o gre?

k

s

el

)

50

S| AFFL y = —x? + dx + 2 — 1 9] Higre]

o | <t

@ 3 ® 5

D1



14.

y=3x2+2x+a 2 WL} A (a,a® +2) & AU x
23} T Ho A B EE 4 o] Zhe Asholat,



15.

oA y = ax?+bx+c O] Aol 9 0|1 o A

09 F o] -2, 4 & o, abe ©] 72?7 (H, a, b, ¢

@D -10 ® -12 ® -14 @ -16



